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:BC jaiall -
E,=0,B,=0,(1)
F,=0,B,— 8KN+(, =0,(2)
Mg = 0,—-8KN(1m) + C,(2m) =0, (3)
:AB_yiaiall -

Fe=0,4, —10KN() + B, = 0,(1) -
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F, = 0,4y~ 10KN(Z) = B, =0,(2)

M,=0,M, — 1OKN(§)(2m) + B, (4m) = 0, (3)

A, =6KN,B, =0,C, = 4KN,A, = 12KN ,B, = 4KN
M, = 32KN.m
50- kg LalS 21 glasal Jooms JSAI1 3 citall S < (2) Wl
C Juaill wic 59alls A Juadll wic Jaall 3,0 2ysgenlls 2ad¥l LSl couo!
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(a) (b)

AB yiaially « &lsha ol o 5,81 ol @zl labaies ot ol el lalaies -1
AD ynially  Two forces member yjaic sa gl
L85l glauddl e B,SCl) s lalll LS Tas 1 0jlsadl w¥olas -2
>E =0,D,—-5009.81)N =0,(1),D, = 490.5N

z E,=0,D, —50(9.81)N = 0, (1), D, = 490.5N
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z M, = 0, Fgc(0.6m) + 490.5(0.9m) — 490.5(1.20m)
=0, (1)
Fye = 245.25N
z F.=0, A, —24525— 4905 =0, (2)
A, = 736N
> F =0, 4,- 4905 =0,(3)
A, = 490.5N
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ZszO, Ax —Cx=0,(1)

ZFy=0, Ay—20=0,(2)

z MA = 0,CX(3.5) + 20(3) = 0, (3)

Cx=17.11b, Ax=17.1lb, Ay=20Ib

S AB i
ID\ 35f
B | | ZFx=0,7.1—Bx=0(4)
lzmh l,,‘
l_i ZFy=O,20—ND+By=O(5)
b 1‘ Z MB = 0,— 20(6) — ND(3) = 0 (6)
BX=17.11b, ND=40lb ,By =20 Ib
b | Pl

Zszo, Dx =0(7)
Fy=0, ND—20-Dy =0 (8)

Dx =0, Dy =20lb
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C + :."(

3
0; Ifw(:ﬁ-)(?-) + 75(981)(03) — 75(9.81)(28) = 0

Fyg = 153281 N
C+IM, =0 C,.(2) + 75(9.81)(0.3) — 75(9.81)(0.8) = 0
C, =18394N = 184N

4
X3F, = 0; 1532.31(;) - 75(9.81) = C, = 0
C.=49S5SN

Fy = Fug = 153281 N

- %nssz.sn = 122625 N = 123 kN

3
B, = '2(1532.31) = 919.69 N = 920 kN
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C badll e Jaddl 5,0 &5 genlls a8 Sl wlus wallall: (5) i

400(2) + 800 — Fy (=) (1)

= Fgs {;‘ﬁ}ﬂ} =0

Fgy = 84327N
LEF, =0;C, - 84327 (&) =0

C, = 800N Ans.
+13F, = 0; C, + 843.27( =) — 400 = 0

C, = 133N Ans.
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F—e
! Im 1| 2m
Member CD
C+EIM,=10; 600(1.5) — Ne(3) =0
Ne= 300N
Member ABC
C+EM, =0; —B800 + B,(2) — (300sin45°)4 =0
B, = 82426 = 824N Ans.
LEF, =0; A, — 300 cos 45° = (),
A, = 212N Ans.
+1EF, = 0; —A, + 824.26 — 300 sin45° = 0
A, = 6l2N Ans.

CoA nladll wic JLad¥l 39y il olus wglbll: (7) Ul
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Entire frame

C+IM, =0; —600(3) — [400(3)](1.5) + C,(3) =0

C, = 1200N Ans.
+12F, =0; A, —400(3) + 1200 = 0
A, =0 Ans.
FEF.=0; 600 —A, —C, =0
Member AB
C+IMz=0; 400(15)(075) — A, (3) =0
A, = 150N Ans.
C, = 450N Ans.

These same results can be obtained by considering
members AB and BC.
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AD., CB are two-force members.

Member AB

C+IM, =0 —[5(3)(4)](15) + B,(3) = 0
B, = 3kN

Since BC 1s a two-force member C, = B, = 3kN
and C, = 0 (Mg = 0).

Member EDC
CHIMp=0; Fpy(3)(1.5) = 5(3) —3(3) =0
Fpy = 20kN
*3F,=0; E,—20(3)=0; E,=I12kN Ans
+13F, =0, -E, +20(3) -5-3=0;
E, = BkN Ans.
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AC and DC are two-force members.

Member BC
C+EIMc=0: [;03)®](1) -B,(3)=0
B, = 4kN
Member BA
CHIMz=0; 6(2) —A(4) =0
A, = 3kN Ans.

+1ZF, =0; —4kN+ A, =0; A, = 4kN Ans.
Entire Frame

C+3IM, =0 -6(2) - [3(3)(8)](2) + D,(3) =0

D, = 12kN Ans.
Since DC is a two-force member (ZM, = 0) then
D =10 Ans.
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